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Code No: 127CT

JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
B. Tech IV Year I Semester Examinations, November/December - 2018
ELECTRICAL DISTRIBUTION SYSTEMS

Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit. Each
questron carries 10 marks and may have a,b,cas sub questlons

(25 Marks)

( l.a)  Define the contribution factor. [2]
b)  What is the significance of load factor? [3]
c) How the distribution systems are classified? [2]

) What Is. the need of substatrons" State dlfferent types of _substatlons.

.-"What is.meant by thiee- phase balanced prlmary lmes. L
g) What are the types common faults.

h) Define the principle of operation of Circuit Reclosures.

i)  What are the equipments used for voltage control.

j)  What are the draw backs of low power factor?

(50 Marks)

2.a)  Obtain the relation between load factor and loss factor.
b) A substation is to supply three regions of loads whose maximum values are
6000 kW 10000 kW and 5000 kW The diversity factor of the load at the substation is

OR i L e :
3. Discuss the characteristics of the followmg categories of loads:
a) Residential, b) Commercial, c) Agricultural and d) Industrial [10]

4.2)  What are the types of basic distribution system‘7 Explain.
-~ b)  Draw the single line dlagram of radial type. prlmary feeder and mentlon the factors tha1
- mﬂuence the sele'~ i 1 of. prlmary feeder AT - : ]
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11.a)
b)

Derive the expression for voltage drop and power loss for non-uniformly radial type

distribution load.
Find the output power of a 3-¢, 400 V LV side of distribution transformer shown in

below figure.

40A,0.5 lag : 50A,0.9 lag

gé 50+i10 100420 Q/ph O 100+j20 Q/ph
R e,

OR
Assume-.that a star connected three- phase load is made up of three impedances, of ..

5042500hms each and that the load is supplied by a, 3 phase fou,rj__ 1re primary feeder;

Vin=76302240°V and V= =7630,120°. Determine the a) The phase currents in each line
and (b) The total active and reactive power supplied to the load. [10]

Explain the coordination procedure between recloser and fuse.
What are, the main, Ob_]eCIIVCS of dlstrlbutlon system protect10n‘7 DISCUSS [5+5]

distribution system, mentioning the assumptions to be made for the analysis. [10]

What do you understand by sizing of the capacitors? And how do you justify
economically the connection of capac1tors for the improvement of power factor?
A 3-phase synchronous motor is connected in parallel w1th a load of 800kW at 0. 8 p f.

OR

Explain about line drop compensation.
Explain how series capacitors control the voltage in the distribution systems. [4+6]

[5+31 .

/The: baldnced dine* to-fieutral’ VoItagcs at tHe recelvmg end are: Vanh7630400V

,.«-"'Considermg a typlcal""example descrlbe the proce‘dure."for fault cnrrent: calculatxons inia..
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